MCHX %5

——]

=

B AT T

mindman

Rkt

® SREEMSANEIE N )T > (EAS R RIBEIRUTIRE S LRy AR T

® JTUSERS BN - [R]IRF g Ry B PUAR O - DX B — e — ARl
AR HE A

o A RYE.C - MRS - IR F MRS - H RGN R
8 Bk KEEEA -

® RIS AT NS A KRR -

HIGR MCHX
TEB =0 Emy
r= 4t
= NI SELRAE (mm)|[ 10 16 20 25 32
5 IR —
#7f2 (mm) | 20,40,60 | 30,60,80 | 40,80,100 [50,100,120{70,120,160
MCHX—-16—-30M B 75
| 5 P R J s 0.2~0.6 MPa
JE R —5C~+60°C (FHH)
RugE FEIRE 1752 M : e faw (1) RFHE
10 20, 40, 60 HEERE +0.1 mm
16 30, 60, 80 RT: G122,
BRESS (%2
20 | 40,80,100 b RDF: fE%%:, RNF: NPN, RPF: PNP
25 50, 100, 120
32 70, 120, 160 XA TR B BN 35 5 G e T -
W2, HRSS M GE 2 5-10, 5-14H -
Kk
MCHX-10 MCHX-16 MCHX-20 MCHX-25 MCHX-32
F7H2(mm) 20 | 40 | 60 | 30 | 60 | 80 | 40 | 80 | 100 | 50 | 100 | 120 | 70 | 120 | 160
= # FHAESR(c.p.m) | 60 | 40 | 40 | 60 | 40 | 40 | 60 | 40 | 40 | 60 | 40 | 40 30 | 20 | 20
i (kg) 028 | 035|044 |056| 08 |[094| 1 | 15 |168|169| 28 | 3.0 |3.15 | 4.36 | 5.02
Ui LU
LIS
il Zeds e
ﬁ 2TTXTA B
‘ (TR L)
i8S
- )
o &
¥ P32 LT -

HigE  |SA| SS | mARIEHHS g% | MM | i RIS | BoRSHE ) Aige | TA|  TT | ARESHS
MCHX-10| 8 | M4x0.7 2.1N.m MCHX-10| 4.5 | M4x0.7 2.1N.m MCHX-10 M4x0.7 1.4N.m
MCHX-16 | 10 | M5x0.8 43N.m MCHX-16 | 5.5 | M5x0.8 43N.m MCHX-16 M5X 0.8 2.8 N.m
MCHX-20 | 12 | M6x1.0 7.3N.m MCHX-20 | 6.6 | M6 1.0 7.3N.m MCHX-20 M6x 1.0 4.8N.m
MCHX-25| 16 | M8x1.25 17.7N.m MCHX-25| 9 [M8x125| 17.7Nm MCHX-25 M8 X 1.25 12.0N.m
MCHX-32| 16 | M8x1.25 18 N.m MCHX-32| - — — MCHX-32| 11 | M8x1.25 12.0N.m

/M mindman



MCHX wifhsis R EREE

i

HEITTFN

¢ 16~¢ 32

mindman

10

FEEMME

2 4 2
No. agppir~— 1o|16|7hf| 2532 DR | |No| s o 1o|15|*f| 2532 M
(N fred 1 18 | CAUHIER sl 1
2 | A ghe<E 2 19 | SESUREE R BN 4
3 | THER AN 2 20 | EEEEEER NBR 2
4 | etk AN 2 21| TREEREEER NBR 8
5 | K s 1 22| Offumz NBR 4
6 | ralmE sl 1 23| Offumz = NBR 2
7| TRk B 1 24 | PURIVEPE ks 1
8 | IhZE - B 2
9 | FGMEERREIERE | - B 2
10 | imEE Fiir= i 4
M| AR NBR| PU NBR 4
12| wE = | [tz 4 | G ThE
13 | REMEBR ey ) 2
14| Fea | e | 4
15| #HE HEME 8
16 | BhEzIRNE il 4
17 | RO g 1| 4

/M mindman



MCHX  BSREEE/J)TVER T V

BARIFEITHRIM mindman

ARNMGERHGTER] ©  sosonsemsikszs2n

B MCHX STUL > BLAME R /7 AR 7 #0.3kg »
2254 B J): 0.5MPa > SeRp B EER=20mm » e}
HOTNEL AP R AR B 0 =0.1 > SeRpiivg - MER
TS JEE e fr e o 3 ] fr e 2 B 2

MCHX-20-40
20

F=60N
sk S8 =] I
1 ARE SR HFTfR i/ N FE ) R=20mm \1{ — FE JO.GIT/IPa
0.3x9.8 > 0.5MPa
F2— 07 x4 z %
’ R 60 0.4MPa]
> 60(N) i
K 40 :
2. HERPEOR T - IMIOR B - R ZE %8 J70.5 MPa 20 03MPa
RFFRT20mm - R R EF AR B0N LGB SE - ] 5% 0.2VPa
FAMCHX-20-405%¢ &L - 90720 20 60 80 100 120 140

HEFHEE R(mm)
SRR

1L A {E a=4 > RIIRTHE (T — M IRy i A i T -
2. FAE AT R A B SRS D [ 2 rh 221G - PRI AR I RSN > L 1 =013 55 -
3 AT ARBRFA BRI 2 B 2 T - RILAZH R S E MY & 2 (a) -

LRSI
1. S MZ SRS - Rl LR SRR~ GRS &
RAE oA 22 -

2GR TRIEAR B AL QNG PR - T RE R
AR -

3T Z SRR BB T - R B IR -

Il AR

Eills {0 IR, | e REHEST )

MCHX-10 M4 x0.7 1.4 N.m
MCHX-16 M5x0.8 2.8N.m
MCHX-20 M6Xx1.0 4.8N.m
MCHX-25 M8 X 1.25 12.0N.m

MCHX-32 M10X1.5 24.0N.m

/M|Mindman



MCHX gl

BHEISFITRM

25

20

ESEFAN(N)

10

MCHX-10-40
MCHX-10-60

E‘E‘jjO.GMFI’a

0.5MPa

|
|

—
|
——___| 0.4vPa

—+——_ 03MPa

1 |
‘O‘ZMPIa

0
0 10 20 30 40 50 60 70

HFFRIE R(mm)

MCHX-20-40
120
100 = Ji£730.6MPa
~ 0.5MPa
z 80
R 60 0.4MPa|
i
K 40 :
0.3MPa
20 ——
O.ZMPa

0
0 20 40 60 80 100 120 140

0 MCHX-25-120

200

HeRpRE R(mm)

MCHX-25-100

J#&70.6MPa

———| 05MPa

— {
—— 0.4MPa
\\

0.3MPa
0.2MPa

0 40 80 120 160 200
HerFRE R(mm)

R: Z&FFHEmm

o0 MCHX-16-30
o T Ig_i_éj‘jO.GMPa

> 40 :\\\ 0.5MPa

g T T——1_ 0.4mPa

ﬁ 30 — 7

% 20 I B e 0.3MPa
10 0.2MPa—|

120

100

80

60

AR5 IT (N)

40

20

0
0 20 40 60 80 100 120 140

HeRFRIE R(mm)

MCHX-20-80
MCHX-20-100

— £ J30.6MPa

b.SMITa

0.4MPa

[ 1 0.3MPa
0.2MPa—

0
0 20 40 60 80 100 120 140

300

250
z

=200
R

#7150

100

50

HeRFRE R(mm)

MCHX-32-70

— §E/70.6MPa
\\

—_| 05MPa
— 0.4MPa
— 0

—
=
—T——— 0.3VPa

i
0.2IMPa
0.1MPa

0 40 80 120 160 200
PR R(mm)

mindman

MCHX-10-20

25

|

Ea—’_jj‘}O.GMlPa

20

0.5MPa

15

[L]

—
\\

HEFST (N)

I 0.4MPa
]

—— 0.3MPa

—

0.2MPa

0
0

10 20 30 40 50 60 70
HeRFRREE R(mm)

MCHX-16-60

0 MCHX-16-80

T E‘gjjo.iempai

50

—] [ [
T 0.5MPa

40

TT——04MPa

30

ESEFAN(N)

0.3MPa

20

—— 0.2MPa

0
0 20 40 60 80 100 120 140

SeksEIE R(mm)

MCHX-25-50
220
200
J#70.6MPa
160 -
< 0.5MPa
2120 —
o —T——— | 04MPa
K 80 =
) ——————{0.3MPa
40 0.2MPa
0
0 40 80 120 160 200
HKFHRE R(mm)
MCHX-32-120
MCHX-32-160
300 |——
‘\._ EjbeMPa
=250 ] |
pd ~ 0.5MPa
=200 —x
I 0.4MPa
4P 150 =] |
00 [ T 03MmPa
= T
T 02WPa
50 0.1MPa

0 40 80 120 160 200
HeRpREE R(mm)

/M mindman



MCHX HBIRSF $10-¢32

BARIFEITHRIM mindman

L ] [
\ \ 20 | 76| 56[100| 80| 26| 36| 51| 38[11.5[115
MCHX-10 | 40 [ 118| 78| 142108 42| 52| 67| 54 [195[195
60 [156 | 96| 180(146| 60| 70| 85| 72{28.5|285
30 | 98| 68[128| 98] 28| 45| 60| 40[13 [13

] W _l#2| A | B |DA|DB|E|F |G| M|P1|P2

f} Q;i MCHX-16 | 60 | 170 | 110|200 152| 58| 75| 90| 7025 |25
L. 80 | 210 | 130 | 240 | 192 | 78| 95| 110| 9035 [35
2TTXTA . 40 | 122 82| 160|120 38| 58| 71| 54|16 |16
(ZeBERTAL) MCHX-20 | 80 [222 (142260 [ 104 | 80100 113 ] 96 [34 |34
G 100 | 262 | 162|300 | 234 [ 100 [ 120 [ 133 ] 116 |44 |44
M 50 | 150 | 100 | 196 | 146 | 48| 70| 88| 6619 |19
2- 6 MM . SRSXRAHE MCHX-25 | 100 | 282 | 182 [ 328 | 244 [ 102 | 124 [ 142 [ 120 [43 |43
(AAmZeEAL) o 120 | 320|200 | 366 | 282 [ 120 [ 142 [ 160 [ 138 |52 |52
'y ¢‘/ 5 > 70 | 220|150 [ 272 [202| 60| 86| 110| - |28 |28
MCHX-32 | 120 [ 318|198 [ 370 [ 282 | 108 [ 134 [ 158 | — [52 |52
\ 160 | 402 | 242 | 454 | 366 | 152 [ 178 [202] — |74 |74
<D D | o
Lo\ o <
f $\ R %
& RR X RA % 4-SSX SA %
(Z2HEAREFFL)
$PPxPA I
DA(jH) / DB(PH) .
uu uu KA
AL P2 P [ERALGN) -
o ‘ Lt m—
o \ < : | o
BPEERE & o)
x : = e
S A r
"=t i s b
L1 L] 2 /]
N B(H) N| 2%2-QQ K
z A(Fd) z L

5

% 1'H | K [KA|KB|KC|KD|L| N [MM{PA|PP|P3| @@ |R [RA|RR|RS| S |[SA| sS
MCHX-10| 44 | 20 | 20 |18.2(12.5| 8 34| 7 45115 | 18 9 | M4x0.7 15 3 3 3 34 8 | M4x0.7
MCHX-16| 55 | 25 | 25 |22.6(16.5| 9 | 43| 9 |55|1.2| 23 |10 [ M5X0.8 19| 3 3 3 |42 |10 | M5x0.8
MCHX-20| 65 | 30 | 30 |28.2[20 |10 5412566 (15|27 | 11 [ M6X1.0 24 | 4 4 4 52 | 12 | M6X1.0
MCHX-25| 76 | 40 | 38 |33.2(23.5|11.5| 64 |14 9 (15|32 |16 |M8Xx1.25| 29 [45]| 4 4 62 | 16 | M8x 1.25
MCHX-32| 82 | 50 | 40 |32.2|30 |14.5| 70|15 - |25| 35|16 | M10X1.5]| 32 8 6 6 64 | 16 | M8x1.25

M T T|{TA| TT uu v iw|x |[xi|va|yB| z

itk
MCHX-10| 31 | 9 5| M4x0.7 | M5xX08 | 46| 7 [305(05| 6| 6|10

MCHX-16 | 39 |10 7 | M5X0.8 M5x0.8 58 8 138505 8 8| 13
MCHX-20 | 46 |11 7 | M6x1.0 | M5x0.8 | 70 | 10 |45 |1 10|10 | 17
MCHX-25| 52 |12.5| 7 | M8x1.25 | M5X0.8 81 | 12 | 51 1 12 112 | 21
MCHX-32| 68 |22 | 11 | M8X1.25 | Rc1/8 100 | 15 |67 |1 14 | 16 | 24

/ﬂ//ﬂMinqun



	1_規格
	2_內部構造
	3_機種選定
	4_性能圖表
	5_外觀尺寸

